KD-G207

JV

Installation /Connection Manval

PykoBOACTBO MO YyCTaHOBKE/MOAK/IOYEHUI0

GET0179-002A
(EE]

ENGLISH

This unit is designed to operate on 12V DC, NEGATIVE ground electrical systems. If your

vehicle does not have this system, a voltage inverter is required, which can be purchased at JVC

IN-CAR ENTERTAINMENT dealers.

1103KKSMDTJEIN
EN, RU

PYCCKUM

370 yCTPOWCTBO paspaboTaHo AnsA aKcrnyataumy Ha 12 B NoCTOAHHOrO HanpAXEeHUA ¢
MUHYCOM Ha macce. Ecniv Baw aBToM06Ub He MMEeT 3TON CUCTEMbI, TPpebyeTcA MHBEPTOP
HanpAXXeHUs, KOTOpbIn MOXeT 6bITb NPUoBpPeTeH Y aunepa aBTomobunHero cneunanucTa JVC.

Parts list for installation and connection
The following parts are provided for this unit.
After checking them, please set them correctly.

®/

Hard case/Control panel
KecTkuit pyTnap/naHens
ynpasneHua

®
Power cord
Kabenb nutaHma

®
Mounting bolt (M5 x 20 mm)
KpenexHbin 6ont (M5 x 20 Mm)

©

Sleeve
Mydpta

®
Washer (g5)
LLan6a (m5)

Rubber cushion
Pe3unHoBbI Yexon

Q)

Cnucok getanen AnA ycTaHOBKMU M NOAKIIOYEHUA

Cne,u,yrou.wle AeTtanun noctaBneHbl B KOMMNEKTE C yCTpOI?ICTBOM. Homep B Ckobkax 060o3HavaeT
KONMMYEeCTBO NOCTaBNAEMbIX AeTanen.

Mocne npoBepkn KOMANEeKTauum, NoXanyncra, yCTaHOBUTE UX MPaBUIbHO.

©
Trim plate
[ekopaTunBHyto naHesnb

© RN
Lock nut (M5) \Q@\\,
dukcupyrolan raika (M5) =
Q@
Handles
Pblyarn

<

<

INSTALLATION (IN-DASH MOUNTING)

YCTAHOBKA (YCTAHOBKA B NPUBOPHYIO MNAHE/Ib)

The following illustration shows a typical installation. If you have any questions or require
information regarding installation kits, consult your JVC IN-CAR ENTERTAINMENT dealer or a

company supplying kits.

« If you are not sure how to install this unit correctly, have it installed by a qualified technician.

When you stand the unit, be
careful not to damage the fuse
on the rear.

YcTaHaBnvBanTe yCTPOWCTBO
Takum o6pasom, 4TOobbI He
noBpeanTb NpeaoxpaHnTesb,
pacnonoXeHHbIV c3aau.

Ha cnegyowmx nnnocTpaumAx nokasaHa TMnoBaA yCTaHoBKa. TeM He MeHee, Bbl AomkHbI

caenaTb NonpaBky B COOTBETCTBUM € TUNom Bawero aBTomobuna. Ecnun y Bac ecTb kakne-nmbo

BOMPOCbI, KacaroLmeca YyCTaHOBKM, obpatuTech K Balemy annepy asToMobusiHero crneunanncta

JVC nnn B KOMNaHuio, MOCTaBMAOLLYI0 COOTBETCTBYIOLME NPUHAASIEXXHOCTH.

« Ecnv Bbl He 3HaeTe TO4YHO, Kak crefyeT ycTaHaBnNMBaThb 9TO YCTPOMNCTBO, 06paTnTech K
KBaNMULUMPOBAHHOMY CMELManucTy.

Do the required electrical connections.
BbinonHute Heobxoaumble
NOAKIMIOYEHNA KOHTAKTOB, Kak
nokasaHo Ha 060pPOTHOM CTOPOHE 3TOW
WHCTPYKLUMN.

Bend the appropriate tabs to hold
the sleeve firmly in place.
OTOrHMTE COOTBETCTBYIOLLME
chmkcaTopsbl, NpefHa3Ha4YeHHble
[NA NPOYHON YCTaHOBKM Kopryca.




Removing the unit YnaneHue ycTpoicTea
Before removing the unit, release the rear section. Mepen yoaneHnem ycTponcTea ocBO6OAMTE 3a4HIOK YaCTb.

Insert the two handles, then pull them as illustrated so that
the unit can be removed.
BcTaBbTe ABa pblyaXkka, 3aTeM NOTAHUTE MX, Kak

MoKa3aHo Ha PUCYHKe, YTOBbI BbIHYTb YCTPOMCTBO.

When using the optional stay When installing the unit without using the sleeve

Mpwu ncnonb3oBaHUM AONONMHUTENIbHOW CTOUKM Mpu yctaHOBKe ycTpoucTBa 6€3 ucnosib3oBaHuA My bl

In a Toyota for example, first remove the car radio and install the unit in its place.

B aBTOMO6UunAx “Toyota’, Hanpumep, cHavana yoanute aBTOMOOUIbHYO MarHuTony, 3aTeM yCTaHOBUTE Ha ee
MECTO 3TO YCTPOWCTBO.

Stay (option)
Croiika (AonONHUTENbHO)

Flat type screws (M5 x 8 mm)*

Fire wall KpenexHble BUHTbI (M5 x 8 Mm)*

Dashboard /\ Bracket*
‘ KpoHwwTenH*
\ %> Flat type screws (M5 x 8 mm)*
‘ Screw (option) KpenexHble BUHTBI (M5 x 8 Mm)*
© BvHT (mononHWTENbHO)

* Not included with this unit.
* He BXOOAT B KOMIMMEKT.

Pocket
Kapman Bracket*
KpoHwTenH*
i Note : When installing the unit on the mounting bracket, make sure to use the 8 mm-long screws. If
longer screws are used, they could damage the unit.
o Install the unit at an angle of less than 30°. MpumeyaHue : Npu ycTaHOBKE YyCTPONCTBA HA KPEMEXXHbIN KPOHLUTENH, UCNOMNb3YNTe TOMbKO BUHTbLI ANTMHON
<. YcTaHoBUTE YCTPOICTBO MOA YoM MeHee 30°. 8 mm. MNpu ncnonb3osaHun 6onee ANNHHBIX BUHTOB MOXHO NMOBPEAUTL YCTPONCTBO.

TROUBLESHOOTING BbIABJIEHUE HEUCMPABHOCTEM

» The fuse blows. « CpaboTtan npegoxpaHuTenb.

* Are the red and black leads connected correctly? * TpaBnnbHO N NOAKIIOYEHbI YEPHBIV U KPacHbI NpoBoaa?

+ Power cannot be turned on. * MuTaHue He BKNlOYaeTcA.

* Is the yellow lead connected? * ToOKMOYeEH NN XeNThli NpoBOA?

* No sound from the speakers. + 3BYK He BbIBOAUTCA Yepe3 rpOMKOroBOpUTENM.

* Is the speaker output lead short-circuited? * HeT nn KOpPOTKOro 3amblkaHuA Ha kabene BbIxoaa rPOMKOroBopuTenen?

* Sound is distorted. * 3BYK UCKaXKEH.

* |s the speaker output lead grounded? * 3asemneH Ny NpoBof BbIxoAa rPOMKOroBoOpuTENen?

* Are the “-” terminals of L and R speakers grounded in common? * 3asemneHbl 1 pasbembl “~” npasoro (R) n nesoro (L) rpomkoroBoputenein?
* Noise interfere with sounds.  llym meluaet 3By4aHuio.

* |Is the rear ground terminal connected to the car’s chassis using shorter and thicker cords? * CoeOnHeH N HaxoAALMIACA C3aAM 3a>KMM 3a3EMIIEHMA C LIACCKM aBTOMOOMNA C MOMOLLbIO
« Unit becomes hot. 60ree KOPOTKOrO U TOHKOFO LUHYPOB?

* Is the speaker output lead grounded? * YcTpoucTBO HarpesaeTcA.

* Are the “~” terminals of L and R speakers grounded in common? * 3aseMieH v NpoBog, BbixoAa rPOMKOrOBOpUTENENn?

* 3asemneHbl 1 pasbeMbl npasoro (R) n nesoro (L) rpomkoroBoputenen?



ENGLISH

PYCCKUM

ELECTRICAL CONNECTIONS

SNNIEKTPUHECKMUE NOAKIJIIOHEHUA

To prevent short circuits, we recommend that you disconnect the battery’s negative terminal and
make all electrical connections before installing the unit.
» Be sure to ground this unit to the car’s chassis again after installation.

Notes:

* Replace the fuse with one of the specified rating. If the fuse blows frequently, consult your JVC
IN-CAR ENTERTAINMENT dealer.

* It is recommended to connect to the speakers with maximum power of more than 50 W (both at
the rear and at the front, with an impedance of 4 Q to 8 Q). If the maximum power is less than
50 W, change “AMP GAIN” setting to prevent the speakers from being damaged (see page 17 of
the INSTRUCTIONS).

« To prevent short-circuit, cover the terminals of the UNUSED leads with insulating tape.

+ The heat sink becomes very hot after use. Be careful not to touch it when removing this unit.

s

|l|~

Heat sink
Pagunartop

[InA npepoTBpalLeHnA KOPOTKNX 3aMbIKaHU Mbl peKkomeHayem Bam oTcoeauHuTb
oTpuuaTenbHbIA pa3bem akKyMynATopa U OCYLEeCTBUTb BCE NOAKIIOYEHWA Nepes yCTaHOBKOM
yCcTponcTBa.

* NMocne ycTaHOBKM 06A3aTeNIbHO 3a3eMIMTe AaHHOE YCTPOMCTBO Ha LWaccu aBToMobunsa.

MpumeyaHusa:

* 3ameHANTe NpefoxpaHUTenb APYrM NpeaoxpaHnTenem ykasaHHoro knacca. Ecnm
npeaoxpaHnTesb cropaeT CANLWKOM 4acTo, obpatuTech K Aunepy aBTOMOOUHEro cneunanucTa
JVC.

* PekomeHayeTcA noaknoyaTb ANHAMUKU C MakCMMaribHOM MOLHOCThIO 6onee 50 BT (k 3aaHen
1 NepefHer NaHeny ycTpoucTBa, C MOMHbIM CONpoTuBneHnem ot 4 Q no 8 Q). Ecnm
MakcumarnbHaa MOLHOCTb AMHaMMKoB MeHee 50 BT, nepengute B pexkum “AMP GAIN’; 4To6bI
npepoTBpatuTb nx nospexaenune (cm. MHCTPYKUNW MO SKCTIINYATALUNW Ha cTp. 17).

» [InAa npenoTBpaLleHmA KopoTkoro 3amblikaHua 3aknente HEVMCMNOJIb3YEMBbIE koHLpl

N30MUPYHOLLEN NEHTOW.

Panvatop Bo BpemA Ucnonb30BaHuA CuUnbHO HarpeBaeTcA. CTapaiTech ero He TporaTb BO

BpEMA yaaneHna yCTPonCTBa.

u Typical Connections / TunuyHbie noaknioyeHuA

Before connecting: Check the wiring in the vehicle carefully. Incorrect connection may cause
serious damage to this unit.

The leads of the power cord and those of the connector from the car body may be different in
color.

1 Connect the colored leads of the power cord in the order specified in the illustration below.
2 Connect the aerial cord.

3 Finally connect the wiring harness to the unit.

Note: If your vehicle does not have any accessory terminal, move the fuse from the fuse position 1
(initial position) to fuse position 2, and connect the red lead (A7) to the positive (+) battery
terminal.

» The yellow lead (A4) is not used in this case.

- | |
Rear ground terminal —-o L 15 A fuse
3agHuin pasbem arl el ol 7]
3asemseHna O o P> Lol o] o] 4
1wl
@ O a2l aal | nsl ﬂ‘i
'f | = | =i A

|

Black
YepHbin

Aerial terminal
Pa3bem aHTeHHbI

/1
2

— =
)
|®
S

Yellow*?
XKenTbin *?

K BbIxoagy (cm. cxemy [H)

Red
KpacHbliii

Line out (see diagram B)

Blue with white stripe
CwuHui ¢ 6enoii nonocon

*2 Before checking the operation of this unit prior to

Mepen Hayanom nogkntoYeHui: TwaTebHO NPoBepbTe NPOBOAKY B aBToMoGUIe.
HenpaBunbHoe NoaKIItoYeHe MOXET NPUBECTU K CEPbE3HOMY MOBPEXAEHMIO YCTPOWCTBA.
Kunbl cunosoro kabens v Kbl COeAMHUTENA OT Ky30Ba aBTOMOGWNA MOTyT 6bITb Pa3HOro LiBeTa.

1 MoacoeanHnTe LUBETHBIE MPOBOAA LHYPA MUTAHWUA B YKA3aHHOM HILKE MOPALKE.
2 TMoakniounTe Kabesb aHTEHHHI.

3 B nocneaHioo ouepeab NOAKIIOUNTE SMIEKTPONPOBO/KY K YCTPONCTBY.

MpumeyaHue: Ecnu B Bawem aBToMOOMIE HIKAKOro BCMNOMOraTefibHOro pa3bema He NMeeTcH,
nepectaBbTe NPefoXpaHUTENb U3 NONOXeHMA 1 NpegoxpaHnTena (NepBoHaYvanbHOe NOIoXKEHUE)
B MOMOXEHWE 2 NPefoXpaHnTEeNa U NOAKIIOYNTE KpacHbIn NpoBog (A7) K NOMOXKUTENbHOMY (+)
NostoCcy akKymynatopa.

* XKentbim npoBopg (A4) B 3TOM Cny4ae He 1Cnosb3yeTeH.

Mpenoxpanutens 15 A

< .@

Eml B3| Bs| B7|

Fuse position 2 / MonoxeHne 2 npepoxpaHuTena
82| 84| 86| B8|

| as] a7]

:A2I aa]

[ sl Fuse position 1 / Monoxenne 1 npepoxpaHutena

%
%

*1Not included with this unit

*1' He BXOOUT B KOMMNEKT Ignition switch

I'IepeKmotlaTenb 3aXuraHumAa

g
To metallic body or chassis of the car > *1 \ Iy
K meTannmyeckomy Koprnycy Unu waccu aBToMobumnaA '
- J

To a live terminal in the fuse block connecting to the car battery
(bypassing the ignition switch) (constant 12 V)

K pasbemy hasbl B 6noke npegoxpaHutensa (MMHyA 610K
3aXkuraHusa) (NOCTOAHHLIA 12 B)

Fuse block

To an accessory terminal in the fuse block
Brnok npepoxpanutena

K BCnomMoraTesibHOMy pa3bemy B 6noke npegoxpaHntena

. To the remote lead of other equipment or automatic antenna if any (200 mA max.)

.
installation, this lead must be connected, otherwise A
power cannot be turned on.
*2 Tepen NpoBEpKON paboThbl yCTPONCTBA NOAKOUUTE
3TOT NPOBOA, MHaYe NUTaHWe He BKITIOYUTCA. Brown
KopwvyHeBbIn
O .

—.]

K yonaneHHomy npoBoAy Apyroro o60pynaoBaHna Uimn aHTeHHbI (Makc. 200 MA)

To cellular phone system

K cucteme cotosoro TenecoHa

JleBbIft rpomKoroBopuTess
(nepenHui)

MpaBbIt rPOMKOroBOPUTESb
(nepenHui)

JleBbIli rpoMKoroBopuTens
(3apHnn)

White with black stripe White Gray with black stripe Gray Green with black stripe Green Purple with black stripe Purple
Benkin ¢ yepHomn Benbin  Cepblii ¢ YepHOMU Cepbii  3eneHblli ¢ YepHon 3eneHbin  [ypnypHbIA ¢ YepHoW MypnypHbI
nonocow ronocow nonocoi nonocoi

Left speaker (front) Right speaker (front) Left speaker (rear) Right speaker (rear)

MpaBbIn rPOMKOrOBOPUTESb
(3apHWn)




B Connections Adding Other Equipment / MoaknioueHne Apyrux ycTponcTs

Amplifier / Yeunutenb

You can connect an amplifier to upgrade your car stereo system.

» Connect the remote lead (blue with white stripe) to the remote lead of the other equipment so
that it can be controlled through this unit.

» Disconnect the speakers from this unit, connect them to the amplifier. Leave the speaker

leads of this unit unused.

Rear speakers

3agHve rpoMKorosopuTenu | j]

INPUT

Remote lead
MpoBoA BHeLHero ycTpoicTea

[inA o6HOBNEHA aBTOMOBUIIBHON CTEPEOCUCTEMBI Bbl MOXETE NOAKNIOYNTL YCUNUTEND.

* [NoacoeamMHuTe NpoOBOA BHELLIHErO YCTPOMCTBA (CUHMIA C 6eNoi NoI0COoM) K MPOBOAY BHELLHETO
yCTpOMCTBa Apyroro 060pynoBaHnA Tak, YTOObl UM MOXHO 6bIno ynpasnATb C 3TOro
yCcTponcTBa.

» Tonbko AnA ycunurtena:

OTcoeAuHUTE rPOMKOroBOPUTENN OT AAaHHOIo YCTPOMCTBA, NOAKITIOUMTE X K
ycunutento. OctaBbTe NpoBoAa rPOMKOroBopuTesieil aHHOro ycTpoucTea
Heucnonb3oBaHHbIMU.

Y-connector (not supplied for this unit)
PaszbemY (He BXOAWT B KOMMMEKT)

- -

—=>®) L

= |
(Rl =»® r

JVC Amplifier
JVC-ycunutenb

[T

/7777977'

Remote lead (Blue with white stripe)
MpoBog BHewwHero ycTponcTsa (CuHuii ¢ 6enomn nonocon)

- <

y

LINE OUT

full'> OR®
HEP P 20

KD-G207

REAR FRONT

)

Signal cord (not supplied for this unit)
Kabenb curHana (He BxoauT B
KOMIMMEKT)

Front speakers
MepenHne
rPOMKOroBOpPUTENM

To the remote lead of other equipment or automatic antenna if any
K yaaneHHomMy npoBogy Apyroro 060pynoBaHNA UM aHTEeHHbI

*3 Firmly attach the ground wire to the metallic body or to the chassis of the car—to the place not
coated with paint (if coated with paint, remove the paint before attaching the wire). Failure to
do so may cause damage to the unit.

*3 TINOTHO NpUKpenuTe 3a3eMAIOLLMIA NPOBOA, K METaN/IM4eCKOMy Ky30BYy WM LUaccu
aBTOMOGUNA—B MECTE, He MOKPbITOM KPACKOW (ECMNM OHO MOKPLITO KPackKoii, ynanuTe
KpacKy nepef TeM, Kak NpUKpensiaTb NpoBoa). HeBbinonHeHne aToro TpeboBaHus MoOXeT

npmBeCTn K NOBPEXOEeHUO AaHHOro yCTpOVICTBa.

PRECAUTIONS on power supply and speaker connections:
« DO NOT connect the speaker leads of the power cord to the car battery; otherwise, the

unit will be seriously damaged.
+ BEFORE connecting the speaker leads of the power cord to the speakers, check the speaker

wiring in your car.

NMPEOOCTEPEXEHHWA no nutaHMio 1 NOAKNIOYEHUI0 TPOMKOroBOpUTEen:

» HE nopgkrtoyanTe NnpoBoaAa rPOMKOroBopuTesNien K akkymyJiATopy aBTOMOOUIA, uHa4ye
YCTPOMUCTBO GyaeT NoBpeXxaAeHo.

» MEPE/[ nogknoyeHMem NpoBOA0OB FPOMKOrOBOpPUTENEN K Kabento NMTaHuA rpOMKOroBOpUTESNA
NpOBEPbLTE CXEMY COEVMHEHWNI TPOMKOroBopuTenen B Bawem asTomobune.

Ay

[IN /7




